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In comment resolution for the last letter ballot, the task group voted to maintain slightly tighter ACR and AACR values to improve performance in the vehicular environment, and to maintain an optional category 2 (significantly higher ACR/AACR) for maintaining performance with high power public safety applications (limit the amount of out of channel interference tolerated from adjacent and alternate adjacent higher power channels used for longer range outdoor applications; e.g. emergency traffic signal priority).  

Adjacent channel rejection = desired signal – undesired signal (in dB) 

Desired signal is the receiver sensitivity + 3 dB (according to 802.11-20007)

The receiver sensitivity is different for each modulation and coding level. 

The undesired signal (amount of tolerated out-of-channel interference) is fixed. Therefore, the ACR level adjusts to reflect the changes in modulation/coding to limit the out of channel interference tolerated). 

The test is to set the desired signal level to 3 dB above the minimum sensitivity, increase the adjacent channel interference until a PER of 10% is experienced, and ensure that the ACR minimums are met. 

However, in the 802.11p ACR/AACR tables, the relationship is not correct; the interference tolerated is not fixed. This was pointed out in comments (submitted by Vinko Erceg) on the previous letter ballot. If the desired ACR and AACR levels are maintained, there are still corrections to ACR/AACR values in the 802.11p tables. 

From 802.11-2007:
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Note that for 10 MHz channel, (min sens+3dB+ACR) = -66 dB for all modulations and

(min sens + 3 dB + AACR) =  -50 dB

From 802.11p D3.0:

The same relationship does not hold for WAVE values. 
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For category 1 ACR, the interference tolerated should be (-85+3+18) = -64 dBm
And—the remaining ACR values should be: 17, 15,13, 10, 6, 2, 1

For category 1 AACR, the interference tolerated is (-85+3+34) = -48 dBm
And- the remaining AACR values should be: 33, 31, 29, 26, 22, 18, 17

For category 2 ACR, the interference tolerated is (-85+3+37) = - 45 dBm
And- the remaining ACR values should be: 36, 34, 32, 29 25, 21, 20

For category 2 AACR, the interference tolerated is (-85+3+44) = -38 dBm
And the remaining AACR values should be: 43, 41, 39, 36, 32, 28, 27

As a result, it is recommended to reject comments 472, 473, 476 (which recommend using the same ACR, AACR as the base standard), but accepting 474, 475 which indicate the numbers in the table are not correct.

Motion: Instruct the editor to change the values in the table as noted in this document to make the tolerable out of channel interference constant for each category. 
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Abstract


This document discusses comment resolution for comments 472-476 concerning adjacent channel rejection and alternate adjacent channel rejection. 
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